ohe ™A P = 25°, /BED = 70° & o}, /ABC 9] 27]&
“Fotoigt,

AAEB ]| A

/ABC = x 2}

25°+ x4+ x="170°

2x = 45° . x=22.5°




2. o2 189 mABCD oA /B=/D,BC=CD, /A :/B: /. =
2:3:4 012 90 9 §F2 79 do|7t 6em & w, AOCD 9] HolE
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i

/A=2x,/B=3x,/C=4x2 FH
/D = 3x

202x + 3x + 4x + 3x = 360°

12x = 360° , x=30°

(B =/D=090°°E2 AC & ¥9] 4 0 & At}
/COD = 2/CAD =2 x % X /A = 60°

(AOCD 9] Ho]) = % X 6 X 6 X sin 60°
= 9V3(cm?)




o2 J8oA F vt a2 o 09
HAolth. /BAD = 90° /EDC =
65°, (EBF = 40°,/CPD = 70° ¥
W, za+ b+ Lc & A7)=?

=

O 240° @ 245° ® 255° (@)260° ® 320°

B ~
1)Atzte EBCD 7} ol Wiist
D2 /a+40° +65° = 180° ..
La=T5°

2) AT} Hol o]F& 79| 47
= I W79 2of tigt 5249
Frjetgon=z

/b = /PDC = /PCD = 55° ("
PD — PC)

3) AADE ©|A zc = 90° + 40° = 130° (o] ™, AF of gt
D77t 2 /FBA = /ADF = 40° )
WA, za + 2b + Le = T5° + 55° + 130° = 260° O],
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O 284 A P = 7 9o "ol A4 TT = 4
Aotk o & &4 &2 227

® /PDB = /PCA ® (BPT = /ACP
® /BPT = /BDP @ AC//BD

()BD:AC-AB:BP

® AAPC ~ ABPD ©|22 BD : AC = PB : PA
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> £
> Heh 10
= 2 0] = 31
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152800 - 70% =100 , & E4FR2 100 o]tk
whebA] BFEHEAFE 10 )Tk,




th& 293} ol A5e] AB <l BhdelA A ¢, D & 95 $19
Holi, /BAD = /CAD oJtt. AD ¢} BC ¢ #3< E 2 3l
AC= V3, CE=1 ¢ o, AB ] do]& oozt

i

VAR 4
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i

23

B ~
AACE o] AC= V3, CE=10°|1

(ECA =90° o]|B2&

AE = 2, /CAE = /BAE = 30°

¥, AABE oA

AE=BE=2 DE=1, BD = V3

— VAD +BD’ = V37 + V32 =23
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(BAC = /BCA = /ABE = % X 180 = 36°

~ AABC AAPB

T /CPB=/CBE="72°°|22 BC=CP,
AP=1, CP=x 2} 3lH¥

x:(l+x)=1:x

1+ 5
X =




8.

TS 1204 PA = Qe] HMo|1 /APD = /BPD o]t}. /ACB =
24°, /ABC = 80° ¥ w], /ADE 9] 27|15 szt (& H A =
HAo|t})

\VARR 4
0x
iy

52 °

B ~
At dof o] F= Aol 25t

(PAB = /ACB = 24°

AAPB [l /PAB + /APB = /ABC ¢|B&

24° + /APB = 80°

LAPB = 56°

. L/APD = /BPD = % X 56° = 28°

AAPD ©|A4 /ADE = /APD + /PAB o|E=2
. LADE = 28° 4 24° = 52°




9. N AZa b b2 +b2+2 =24, a+b, b+c, c+a 2 BHo] 4
A o, ab, be, ca ©] Bvt-& Fotoiet.

> E:

> =g 2

a+b, b+c, c+a B0l 40BE
2atbte)

3
(a+b+c)?=a®+b*+c%+2(ab + be + ca) A

a® +b* +¢® = (a+b+c)? - 2(ab + be + ca)
24 = 6° - 2(ab + bc + ca)
sab+bc+ca=6
w=2tA ab, be, ca @] B2
ab+bc+ca 6
—_—  =—=260 .

3 3 1=s

:4’ a+b+C:6




10. Al x, y, z 9 Btk BAilo] Z42h4, 2 A o, 3x, 3y, 3z 9] B4F2?

@ 14 @ 16 @18 @ 20 ® 22

~&B ~

Al 5= x, y, z & ol 40|22
X+y+z
3

Xty +z=12 --o-e @)

B3 x, y, z 9 BAto] 20]B2

(x—4)2+(y—4)2+(z—4)2_2
3

(=42 +(-4)°+(z-4)"=6

¥ -8x+164+y> -8y +16+72-87+16=6

P +y’+22-8(x+y+z)+48=6

919 4o G st

W4+y2P+72-8x12+48=6

x4yl =54

SHH, 3x, 3y, 3z 9] W2

3x+3y+3z  3(x+y+z 3x12

=4

- = =12
3 3 3
wpebA AR
(3x—12)2 + (3y - 12)2 + (3z - 12)?
3
94+ 9y + 922 -72(x+y+2z) +144% 3
N 3
_ 9xB54-T2x12+432 54
- 3 3

=18
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S5 ~
Ak 8 off tit =48 x il 5HH =40 g2 200l BE
20-(2+4+6+3+1)=4 . x=4
olu], Fo]71 24 2.2| B
2Xx24+4x44+6%x64+8x44+10x3+12x%x1

20

_ 4+16+3642r032+30+12 _ 65(3)) olnz s
7(2]) ol

whabA] ok AR

1

5 (2-72x2+(4-7)2x4+(6-7)2x6

+(8-7)2x44+(10-7)2x3+ (12-7)>x 1}

1
~ 20
ojt.

(50+36+6+4+27+25)="74




